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The symbol  43,1@ ‘represents:

”

(@) boundary
(b) district
(c) the top level of concrete

(d) the level of main bar

According to the wall detail below, the spacing of the horizontal bar is :

—— 110-300-H.B.
—T116-200-V.B.

200

o

1100

(@ T10

(b) 200c/c
(c) 300c/c
(d) 400c/c

Which one is not the cross section of an "inverted beam” ?

(@)

(b)

(©)

(d)

Kl
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"B1(300 x 1000) Inv. 850" isa/an:
(@) flat beam

(b) inverted beam

(c) long beam

(d) high beam

According to the slab detail below, the required materials are :

(@) 44T10-3000 straight rebar

(b) 44T10-3000 double hook rebar
(c) 44T10-3000 single hook rebar

(d) 44T10-3000 "U” shaped rebar

According to the detail below, the total number of the smallest size stirrup is :

@ 12
(b) 24
(c) 36
(d) 48

Which layer of the rebar is represented by "T3" ?

(@ no fixed answer

(b) the third layer slab rebar

(c) the third layer from the top of a structure

(d) the third layer from the bottom of a structure
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10.

11.

If the anchorage length is 42D, the length of the hook is:

(@)
(b)
(©)
(d)

T40—

Cover

o ﬁEEMMm 40
- Beam 40
Slabk 25

T40 . woll | 25

500mm

1000mm
1280mm
1680mm

"Cover” means :

(@)
(b)
(©)
(d)

the constituent of concrete
the thickness of concrete
the strength of concrete

the shortest distance between the concrete surface and rebar

The purpose of main rebar is to :

(@)
(b)
(©)
(d)

minimize the quantities of concrete
maximize the weight of structure
avoid workers neglect the qualities

enforce the ability of tension and compression

A beam spacer should place against the :

(@)
(b)
(€)
(d)

bottom of a stirrup
bottom of a main rebar
surface of top main rebar

surface of a main stirrup

Page 3/5



12.

13.

14.

15.

The vertical rebar of "retaining wall” and "parapet” should be placed at the :

(@)
(b)
(€)
(d)

outer most
inter sides
anywhere
middle part

The suitable length of tie wire to secure "T20"” and "T25" together is :

(@)
(b)
(©)
(d)

280mm
305mm
330mm
355mm

The Spacer which suitable for an inclined slab is :

(@)
(b)
(©)
(d)

A
i1

According to the picture below, the size of the spacer is :

(@)
(b)
(€)
(d)

5

60mm

75mm

60 & 75mm

30 x 60 x 75mm
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16.

17.

18.

19.

20.

All the bending machine should be installed with a/an :

(@) high speed gear
(b) low speed gear
(c) emergency stop device

(d) tem horse power motor

A tool use for bending a "T25" rebar is :

(@ hammer

(b) spanner

(c) bolt cutter

(d) bending device

The purpose of wearing safety helmet is to :
(@) resist rain and wind

(b) avoid caught a cold
(c) clarify the grade of workers

(d) protect our head and legal requirement

The proper manual handling is

(@) keep the materials closer and maintain the back straight
(b) pick materials all together and complete the work early
(c) throw the materials up to the racket, keep the body fit
(d) wear the suitable safety belt while and manual handing

While using the grinding machine, everyone should wear :

(@) cotton gloves
(b) spectacles
(c) safety shoes
(d) safety belt
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